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Before attempting the question paper, kindly check your

Question Booklet(QB) and O.M.R. Answer Sheet and ensure

that:

- Serial number of Question Booklet(QB) and OMR Answer
Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should

immediately report the matter to the Invigilator for replacement

of Question Booklet(QB) and OMR Answer Sheet. No claim/

objection in this regard will be entertained after five minutes

of start of examination, candidate will be liable for the same.

FiemeTt Fat-use & N R g adr Py wg)

Read all instructions on the reverse of OMR Answer Sheet.

FITHSTT TET—T5e T healel Tl Siel @15 U7 &1 T B | HIT,

ﬂ@mw”mﬁ ST U A S ST STebTd W & |
|

'On OMR Answer Sheet, use blue ball point pen only. Please,

fill your Roll No. and other information correctly in OMR

Answer Sheet.

il wsl % T of €1 aft fed wew ¥ fg uw § ot wav

siftr fFd oA ¥ o SH TTeRT SR AT SR

All questions carry equal marks. If more than one response is

marked for a question, it would be treated as wrong answer.

T U8 W uie e/ ¥ | vedt 9 fased/mi A, B, C sl D

Iuge IO Y Hafr ¥ ofie ofeat fresed e ‘B ‘semi@ st @

it ¥ ‘

Each question has five options/circles. First four options/circles

A, B, C and D are related to appropriate answer and fifth option/

circle ‘E’ is related to ‘Question not attempted’.
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To indicate the correct answer, the candidate has to fill in only

one option/circle A, B, C or D with blue ball point pen for

respective question number on the OMR Answer Sheet. If the

candidate does not want to answer any question then the fifth
option/circle ‘E’ should be darkened.

ufy uig freed ¥ & B ot Rresea/iver e 7Y fopar ram A wew
H1 1/391 oids wie oy s

1/3 part of the marks will be deducted for the questions, if
none of the option/circle options are darkened.
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1/3 part of the mark(s) of each question will be deducted for
each wrong answer. (A wrong answer means an incorrect
answer or more than one answers for any question).
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If a candidate leaves more than 10 percent questions or does

not darken any of'the five options, he/she will be disqualified

: for the exam. :

10.  oTvaeli Wt SRS W9 % T 9§ o e R/ WO & ar e
75 ghfyaa @ ¥ fog 10 fre sifafem fig smen )
Candidate will be given 10 minutes extra to make sure:d,
he/she has filled up any one option/circle for each quest =
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If there is any sort of ambiguity / mistake either of print: ;
or factual in nature in Hindi or English version of questic *é“é%ﬁ
then the English Version will be treated as final.
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Use of Mobile Phone / Bluetooth Device or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means

or if any unauthorized material is found in his/her possession,

F.LR will be lodged against him/her in the Police Station and he/

she would be liable to be prosecuted under State Public

N

g

A

- Examination (Measures for Preventions of Unfair Means in

Recruitment) Act. 2022 and Amendment Act 2023. The act has
provisions of imprisonment of 10 years to life and fineup to T 10
crore. Board may also debar him/her permanently from all future
examinations conducted by the Board
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Complete the sentence by choosing the most
appropriate option from those given below the
sentence.

- He finished first he began late.
(A) though (B) but
(C) since (D) because

(E) Question not attempted

_are unique kind of primitive immature
cells that have a remarkable capacity to
develop into different kinds of cells.

(A) Stem cells (B) Epithelial cells

(C) Epidermal cells(D) Primitive cells

(E) Question not attempted

THYTS HTT B A ST

‘ aﬁﬂmﬁ?ﬁ%ﬁﬁﬁ%mﬁmﬁrﬁﬁ

foefira 219 1 sraTETRT T B Bl

(A) waaRmd (B) SUBAm HINET

(C) wiftrent Fifreerd (D) - iy wifdmeTd

(B) eraina use

In a domestic circuit all appliances are

connected in -

(A) Parallel

(B) Series '

(C) Ifcurrent through the circuit is high they
are connected in parallel and if current
is low they are connected in series

(D) Ifcurrent through the circuit is high they
are connected in series and if current is
low they are connected in parallel

(E)  Question not attempted

@mv&wﬁmﬁgﬁﬁﬁraﬁﬁﬁmm%—

(A) THETHA A

B) fiwEEH

(C) aft uftgy & Ry &1 99 s § af 5%
Ui e H SreT o € iR Ak wW R Al
Sl %69 N ST W € .

(D) aft aftgy & 9T &1 71 AAE® ¥ ar 5%
g e F SireT W € oM} AR w9 ¥
THEY 9 N et S |

(E) organa usd
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Q. No. 4-8 : Read the given Passage carefully and

answer the questions that follow :

Exercise makes us feel good

It feels good to have a strong, flexible body,

and do all activities you enjoy. Exercising can
actually put us in a better mood. When we exercise,
the brain releases a chemical called “endorphins”
which makes us feel happier. This is just another
reason why we should exercise !

However, some people feel that you should

not exercise if it is hot.

Actually, summer’s heat and humidity

shouldn’t keep you from exercising —

you just need to take precautions. Some of

these are :

Exercise in the morning or evening, when
temperatures are lower.

Wear ligﬁt coloured clothing, which are not

too tight. ,
Work out in shaded areas as much as possible.

If you are exercising less than two hours, drink
water before and during the activity.

After exercise, make sure you drink enough
water to completely quench your thirst.

Select the appropriate answer to the given
question :
How does exercise make us feel happy?

Answer :

Exercise makes us feel happy
because ' '

(A) it makes the brain release ‘endorphins’
which makes us happy.

B) it makes you drink a lot of water.
(C) it puts you in a good mood.

(D) it makes you go outside home.
(E) Question not attempted

[PT.O.

Complete the following statement choosing

the best option :

If you are exercising, you should not

(A)
(B)
©
)

B

d.

Pain
Better
Flexible YA

drink a lot of’water
exercise in m mmg or evening
exercise in the hot sun

drink water before and during the
activity

Question notdttempted

Match List T with List II :
List I (Words)
Humidity

~ List II (Antonyms)
I. Rigid

II. Worse -

III. Dryness

Pleasure

Choose the most appropriate answer from the
options given below

)
®)
©
D)

E)

7 Select the appro

a-I, b-11, c- IIId v
a-I1, b-II1, c;f, d-1v
a-IV, b-1, c- m d-TI
a-II1, b-1V, c-H d-1

Questlon not attempted

riate option for answering

the question that | ollows

Why is it necessa}"y* to exercise?

Ans. : It is necessary to exercise because
(A) makes the body strong and flexible
(B) makes you féel more hungry
(C) makes you laok smart and fit
(D) makes you 1 “el sleepy
(E) Question not attempted

=3 44JRAC-1 1
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Select the most suitable title for the passage
The title of the passage is
(A) Exercise and Happiness

~ (B) Benefits of Exercise

(C) Happy Exerc1smg
(D) Physical Fitness.
(E) Question not attempted

Conversion of Organic mﬂtter to compost with
the help of earth-wornisiis known as -

(A) Decomposition

(B) Manuring ;

(C) Vermi Compostmg

(D) Composting 7

(E) Question not attempted
ﬁﬁmwﬁw&@aﬁaﬁmﬁwﬁm ‘
T HEATAT % ?

(A) g (B) e ST
(©) phwafEn (D) R
(B) oraia us 7

elt 1% arer g 1 ot o BIRTT -

T I B i

a. o +ar L el
b. aT+3% I A afn
C. 3+% TH.  erfs @) gy
d. &+ e IV. g @ 9

ﬁ%ﬁqwﬁwﬁr@reﬁwwma&m:
(A) a-ll, b-1, c-1V, d—ﬁ
(B) a-IL, b-L, c-IV, d- III
©) a-ll, b-1V, c-l, dalll ‘
(D) a-l, b-IL, ¢-1V, d-Ii

o

& TR BT TI BT |
(A) ™wgE@mai
(B) ﬁg%r&wmé:
(C) <& ggeds & qe Bl
D) ﬁ?ﬁﬁﬁiﬁi@%ﬂﬂ‘wﬁ%l
(B) emmf@ast

[PT.O.
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13

14

Match the words of List I with the word
having a similar meaning in List I

List I (Words) List II (Synonyms)
a. Inception I. Idea

b. Bizarre - II. Dissolve

¢. Notion [l Beginning -

d. Liquidate IV. Unusual

Choose the correct answer from the options

~ given below :

(A) a-L,b-1I, c-III, d-1V
(B) a-Il, b-III, c-1V, d-I
(C) a-IIl, b-1V, c-I, d-1
(D) a-1V, b-1, ¢-I1, d-III
(E) Question not attempted

P & § Eaae’ %1 SaE el BiF 9T E 7
(A) e o G Te2 9T & B

(B) 19 qes feres Ted ¥, S0 91d TEd 8
(C)  Temes T ¥ 99 w=2 9T (& €
(D) Treres % fam w=2 91T <&

(E) orgaia ued

Which ruler of the medieval period of
Rajasthan is called ‘‘Abhinav Bharat ka
Acharya™?

(A) Maharana Kumbha

(B) Prithviraj Chauhan

(C) Man Singh ,

(D) Sawali Jai Singh

(E) Question not attempted

eI TSR 1 A T e SR e
T SR e & 7

(A)  wETm HET ®) YA SR
(C) wmRdE (D) war W e
(BE) organa ued
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T O IR AT WAl AR 1 o7 ¥

&)
(B)
©
(D)
B

qEeH! O B B B

ferafa on oM IR I SETE WS
i e ST IR SEHT R TOT BT
el qFT-EE B

SN 997

Which of the following is NOT a declared
UNESCO World Heritage Site?

A
B)
©
)
)

Keoladeo National Park
Jantar Mantar, Jaipur |
Amber Fort
Méhrangarh Fort
Questivon not attempted

ﬁw%rﬁgaﬁ@rﬁséUNESCO%rsaguﬁaﬂH
s i for T 7

(A
B)
©
)
B

RIS e FEH
AT "y, STIYT

- SR Ree

AETTE et
TN U9

“Palace On Wheels” a luxury tourist train was
launched on

A
B)
©
D)
E)

26 January 1982
26 January 1980
26 January 1986
26 January 1979
Question not attempted

A7

(A)
®B)
©)

®)
E)

26 sHErdr 1982
26 sHerd 1980
26 sErd 1986
26 T 1979
ST S

[PT.O.
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19

20

2n
If mean of first n natural numbers is —, then

3 2
the value of n will be-

aﬁQWnﬁ@aﬂwaﬁwmw%@ﬁ,?ﬁnw

HE BT —

A 2 ®) 0

©) 4 (D) 3 -

(E) Question not attempted / ST 997
9 + FHOT T TE TE B AR ?

1. wdgser

2. WEHw

3. e

4.  yfagHo :

I fag T fremeat ® @ TR ST BT TAA DI
(A) Faw 1 (B) e 2

(C) a3 (D) Faa 4

(B) ergar ued

In a class of 40 students the data of height of
the students and their number in that range is
given. The sum of upper limit of modal class
and lower limit of median class is

Height in cm.

140- | 145- 1150~ | 155- | 160-
145 |150 |155 |160 |165

No. of
Students (/)

3 6 12 9 10

40 ferenféfait 2t e & TR TEAT SIT 6 AT
¥ Rrenial @ der & TE ¥ | IgAH Hen B S
o aiereT wa B %ﬁﬁ?ﬁ T @1 AT

I 1)
e |140- [145- [150- [ 155- | 160-
@ |145 |150 |155 |160 |165
b WA s 12| 9 | 10
& (f) .
(A) 300 B) 310
(©) 290 (D) 305

(E) Question not attempted / STFART T

- 44JRAC-1]
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22

23

Which is the most advanced printing
technology?

(A) 3-D printing

(B) Thermal printing

(C) Laserjet printing

(D) Inkjet printing

(E) Question not attempted

T § @ @ Rifd dreiifredt wew st s E ?

(A) 3-Dfifer  (B) e e
(C) wwwrfiftr (D) deore BifeT
(B) oranra v

Which of the following is NOT a hardware?
(A) Printer (B) Scanner

(C) Browser (D) Monitor

(E) Question not attempted -

Prefofad & & 5 o1 SR T ¥ 7
A) Biex (B) @
(O) W (D) W
- (B) orana usd

A bulb is connected to an electricity source
of voltage 220 volt. The current flowing
through it is 0.30 A. The power of the bulb is:

(A) 6.6 Watts (B) 66 Watts

(C) 660 Watts (D) 7.3 x 102 Watts
(E) Question not attempted

e 1 220 e & e e & e 31

e ool frgd o @0 A 0.30 A Bl S @

qTfery BFT—

(A) 66T (B) 66a=

(C) 660am= (D) 7.3 %1027
(E) Gﬁﬁﬁ'ﬁ P

[PT.O.
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T T I
a. Wrew smTgar L oo
b. Sl R T ST B AT E L. g
c. Gﬁﬁsqnqmmﬁﬁﬁmﬁm Il yearra
d. smrgen IV. e
e g g ferepedt § § @ weR @1 T i
(A a-L b-II, c-IV, d-IIL.
(B) a-, b-IIL, c-IV, d-IE%
(©  a-II, b-I, ¢-I1, d-IV
(D) a1, b-IIl, c-11, d-I
(EB) el ueT
Match List I with List II
- List I (Name of the ¢ List IT (Place) |
Project)
a. Meja Dam ParlyOJana I Pratapgarh
b. Som-KamIa—Amba IL  Sawai
Pariyojana . ‘Madhopur
¢. Moral Dam PaI'lijana {II. Bhilwara
d. Jhakham Dam . Dungarpur
Pariyojana
T 1 % |re g 1 o ﬁa?rrré: a%ﬁtq
a;vftl(amtrﬁ?hamzmqm) & H (e
a. FEtg U@ L v

- given below:

b. @q—m~wvﬁﬁw . &a1g =refge
C. WS Sier gfdemT 1. Herarst
d. e Sty aRaErsrT IV. §yT

Choose the correct answeér from the options

I R Mg et F & wET T BT w9 i
(A all, b1V, eI, d-T
(B) alL b-l, c-IT, d-TV .
(C) -l b-IV, ¢-L, d-
(D) a-IV, b-11, c-11, d-
(E) Question not attempted / B?j?lﬁ?f EEL]

26  IEETEd HE Bl SUGERT IS BT TR ?

27

28

(A) @@ (B) - e

(© W D) g

(E) ormf@wss
ﬁwﬁﬁ%ms&wwmﬁﬁ%?
Lo gm e

3. o o7

5. Sew
%WWWﬁﬁﬁWW%WW
A 1 “@B) 2,3

© 4 D) 3,5

(B) orgaia uew

Identify the statements which are not true for
‘antibiotics’.
1.  Antibiotics are ubstances which kill or
inhibit the gro h of disease causing
organisms.

2. They are effec in the treatment of
both bacterial and viral infections.

3. Erythromycin, pemcllhn and crocin are
few examples of antibiotics.

4. Antibiotics like- pemcllhn blocks the
processes involved in the synthesis of
cell wall in bac;tena

Choose the most apprepriate answer from the

options given below::

(A) 2,3and4only (B) 2and3 only

(C) 3and4only (D) 2and4 only

(E)  Question not attempted

ﬁﬁwﬁiﬁqa%? A A TR e wRrEr % Ry w

1 F % it A Femd A
wlstifea ®Y 9 %ma%ﬁa;&raﬂ'a?r
2. %rmgaﬁa‘m“rmng

%Wﬁg“ﬂ'ﬁ;ﬁ%%
3. uitammsf, ARl ofk Bife whres)
% P AT E4

4. PRI S e 3 e, g @

aﬁrﬁmfﬁ%%ﬁ@éﬁm%maﬁﬁﬁﬁ
anﬁtﬁs‘t?r%l .

BT
(A) a2, 3@7’:14;;@) e 2 &t 3
(©) arcmmﬂm (

(B)  ergafad ge7

[ PT.O.
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31

Transform the given sentence into negative
form choosing the best option from below :

Everyone present there, cheered for her.

(A)

There was no one present there who
cheered for her.

There was no one present there who did
not cheer for her.

B)

There was no one absent to cheer for
her.

AH but none cheered for her there.

©

D)
®

Question not attempted

Which of the following is a contactless
protocol? ’
(B) HTTP

(A) TCP

(¢) UDP (D) TP

E) | Question not attempted
RrefeRer ¥ & 1 A1 HUHE Wi & 7
(A) @ B wAHAN
©. za@ D) &

(B) orana ued

Which of the following was the largest milk
distribution organisation in India in 20227

(A) Mother Dairy (B) Kwality
(©) Amul (D) Nandini
(E) Question not attempted A ‘
frrefifea & 9, 2022 ¥ ARG & q9W 9T

32

fra @met A A AT

A) wEmh  (B) wRE
(©) emm (D) s
(B) orgafya aed

= 44JRAC-1]
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- (©

Whtch of the following has become the first
“Open Defecation Free” (ODF) tribal district

of Rajasthan?

(A) Ajmer (B) Tonk

(C) Dungarpur (D) Churu

(E)  Question not attempted

P & & TToRET &1 B & SO faem
!g‘@fﬁ offer & o (SM1q) o 5 mam

%?

(A) e B) o®
©) FTrYT D) g&
(B) orgafea qed

What are the functions of operating system?
1.  Manage memory
2 Manage calculations
3. Manage processor time
4 Manage creation and deletion of files / |
- folders
Choose the most appropriate answer from the
options given below:
(A) 1,2and 3 only (B) -2 and 3 only
1,3 and 4 only (D) 1 and 4 only
(E) ‘Question not attempted
e S5 3 R e ¥ 7
1. Ay o Preifir e ¥
uftee @1 Frafa s 21

- 2.
3. yRpa-awa @ et B §)
4

HIEA [ HesT B T B SR G BT
& TP wear 31 :
) g T et F Y TR SUGHR ST B YAT
BT ,
(A) Fam 1,233 (B) %aw 2 i3
(C) ¥aw 1,34 (D) %aw 1w 4

(E) orgaia v

[ PT.O.
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A galvanometer is an instrument that
(A) measures the current in the circuit.

(B) detects th&presence and direction of
current in ihe circuit.

(C) measures maly the dlrectlon of current

in the circuit.
(D) measures the voltage across the circuit.
(E) Question nét attempted
AR e e & o —
(A) ufma ¥ fga s @ A ¥l
(B) w&qaﬂfﬁ%{aam%maﬁrﬁsnaﬂ
(C)  witwer ¥ forga ey o oo it v ¥
(D) afwer ¥ free a wroar 3

(B) ommiay

Which of the following is the smallest
fraction?

13 17 16 5
16> 21° 19° &

e & ot X A e o e i ¥ 2
13 17 16 5
16 2119 6.
13 17
@ 1% . ® 3
5 16
(C) 3 ® 15
(E) Question;i t attempted / STaRE v
36  Whois the Painter of “Bani-Thani” Painting?
(A) Nihal Chand (B) Nirmal Devi
(C) Amar Singh (D) Manmohan Devi
(E)  Question not attempted
(A) frem o (B) frfw &
(C©) omfdE.: (D) wHEEAIIA
(B)  orgafd we9
=~ 44JRAC-1]
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38

39

¥ go7 Pt S € & B fe e 3 7
(A) fewiwfear  (B)  smis e
(C) it Bt (D) wreng fen
(E) aﬁaﬁaus:a:i

Marks obtained;lé;} 15 students in Maths are
given below:

Marks obtained | 5 [10 |12 [15 | 20
No.of Students |3 | 4 | 5 |2 | 1

15 ferenPell T ¥ ST o e Ry o E

qT<iih 5110 |12|15]20
i i een |34 [ 5|21

Average marks of the students will be-

ferenf¥ay @1 sfraa el erm—

(A) 12 SFOB) 11

) 13 (D) 10

(E) Question net attempted / Blfﬁﬁ‘d LES]

g §

Match List I with List IT :

List I 2 ListII

a. Charles Babbage 1. EDUAC/ENIAC

b. John Von II. Tabulating
Neumann ™ Machine

c. Blaise Pascal© I Analytic Engine

d. Herman IV. Mechanical
Hollerith % Calculator

@Iﬁsm&a\%ﬁﬁmﬁmﬁ%{q
T I
a. e & fg {Agod Ao,

c. ﬁr@rm @II feniftres ot

d. o Rfe V. aifie e

Choose the correct answer from the options
given below: .

\ %mmﬁmﬁﬁﬁaﬁmmwm

(A)  a-lIL b-L ¢V, d-1I
(B) a-Il, b-1, &1, d-IV
(C) a1V, b-ILetL, d-111
(D) a-IV, b-TE¢-I1, d-1
(E) Question ‘;ﬁgt attempted / STANT 997

[PT.0.

40

41

42

‘e’ 1 O 98 T T BINT ¢

(A) gow (B) drew
(©) w9g= (D) v§d
(BE) organa usa

The address of website is called :
(A) Location “¢B) URL
(C) ID ~{D) DNS

- (E) Question not attempted

JaeEe F T B we e
(A) wreee “(B) gemuw

(©) s D) diwagw

(B) orgaRd usd

Match List I with ngLJI

List I (Books) ' List IT (Writers)

a. Zakhm Ke i 1. Veer Bhan
Charon Oor

b. Gunbhasha Shiv Chandra

Bhartiya

c. Raj Rupak . Hem Kavi

d. Kanak Sundar, ° IV. Mani Madhukar
Kesar Vilal

T 1 3 e ge 1 1 B S

T 1 (&%) T 11 (Frer)

a. WA % T ST L dR«™

b. ToTHIT L R aRaE

c. T TIH I ¥

d. WWWW IV. =fT 7Yt

Choose the correct answer from the options

(A)
B)
©)
(D)  a-IL, b-L, c-IL,.d-IV .
(E) Question not attempted / 3TaRaT 97

> 44JRAC-1]

43

44

45

(B)  orgafid we

Given below is a sentence in Active voice.
Select the best option to change it into Passive
voice. »
Some boys were helmhg the wounded man.

1.  The wounded man was helped by some

boys. o
2. The wounded man was being helped by
some boys. i
3. The wounded Iﬁan was been helped by
some boy. s
4.  The wounded man had been helped by
some boys.

Choose the most app. Qprlate answer from the
options given below ;.
(A) 3andlonly =B) 2only
(C©) 1only (D) 4 only
(E) Question not a&%mpted

1. w+sd
2. U+Td
3. 9§+9
4. wfr+Ew
R g Ryt & - WE T B/ T B
(A) a1 “B) ¥Ew2

(C) aw 3 (D) e 4

What is BCC in emaﬁ?

(A) Blind Carbon Capy
(B) Blind Content 'Copy
(C) Bind Carbon Cpr

(D) Bind Content Copy

(E) Question not attempted

_%ﬁaﬁeﬁ@@r(BCC)éiéT%?

(B) mmm
(C) wrs wrd Bt

(D) s TR T
(B) sgaf@us

[PT.O.



46  Chips manufacturers usually flush bags of

chips with gas to prevent the chips

47

- 44JRAC-1]

(&)

Gy
(B) 15379

from getting oxidised.

(A) Hydrogen

B) Nitrogen

(C) Chlorine

(D) Sulphur dioxide

(E)  Question not attempted

forey wTaen aiftra R o IR @ & s
B A twdwd
eSS

(B) e

(C) =l

(D) T TS

(E) orgarea usa

The sum of rational numbers from the

following :

V23,~/225,0.3796, 7 is -

(A) 7.43

B) 153796

(C) 17.64

(D) 19.79

(E) Question not attempted

V23,1225, 0.3796, 7 wemalt & & o

FEAT3Tt T AT T B ?
7.43 '

© 17.64’
D) 19.79 -

(E) orgaia g

10

48

49

. (A)
: (B) wa. FﬁTFTT?I

Who is the present Chairman of ISRO?

A
(B) S. Somnath

K. Sivan

<) P Veeramuthﬁvel
D)
(E) Question not atterhpted
ISRO @7 a9 a1eae Hie &7
Bodr

G. Madhavan Nair

© @ dwmgr
(D) 0. "rerEe AT
(E) orgata s

Who is called the Rocket Woman” of India?

(A) RituKaridhal

(B) Janki Amma

(C) Kalpana Chawla

(D)  Aditi Pant

(E) Question not attempted
RS B Vhe i el wet ST & 2
&) Fgartam

(B) <ITest 8T

© Eb't‘ﬂ"ﬂ ﬂTt‘R'ﬂT

(D) il dq

(B) oralka v

[ PT.O.

.50

51

" Match the given words of List I with their

opposites in Llst H :
- List IT

ListI

‘a. Interior .. Complex
b. Simple - II. Mobile

c. Stationary II. Exterior
d. Private IV. Public

Choose the corr t answer from the options
given below :

(A) a-L b-IL c-IIL, d-1V

(B) 2L b1 ¢l d-IV

(C) a1V, b-I, o-H, d-1II

(D) a-IIL b-L, ¢H, d-IV

(E) Question ﬁ“é"t attempted

Detergents can b - used with hard water also

because -

(A) Detergents are more soluble in water
than soaps

B) Detergents are generally much softer
than soap;

(C) Detergents have chemicals which react
vigorously with hard water.

(D) Detergents are sodium salts of
sulphonic-acids or ammonium salts
with chloride or bromide ions which do
not precipitate with Ca and Mg ions in
hard water:

(E) Questionnot attempted

mmm'w&'{m%smaﬂﬁﬁmw

(A) mqﬁﬁﬁwaﬁwﬁ an‘%xzs
AT T

(B) S1qHTSTh GG TIET Bl a1 A STaH
TEEA L

(C)  oromTSten ¥ TR T B ¥ S R W &

maﬁéaﬁmm%l
mﬁmmﬁmm%ﬁmwm
aﬁﬁa@%@aﬁﬁﬂ%mmm@%%

€))

ST O W H Suikerd Ca 37T Mg 3T

Ty AT FE T |
(BE) oraiia 9ed

) 44JRAC-1]

82  The value of'%f(f:.() . 04)"2 S will be :

53

11

2.5 5

(0-04)
(A) 625 (B) 3125
(C) 125 - (D) 25
(E) Question not attempted / SaTa T

Match List I”Wlﬂ'l Llst I v
List I (Impoz tant  List IT (Built by)

Places)
a. Jaigarh F
b. Hawa Malaal

I. Qutub-u-ddin Aibak

II. Sultan Ghiyasuddin
Khilji

inka IIL Mirja RajaJai Singh

c. Adhai Dir
J hompra{?i
d. Ajmer Sharif
Dargah - ~«
T 1 % |1 e
T ﬂwﬂ )

IV. Maharaja Sawai
Pratap Singh
I &1 B @il
& 11 (fras amn Fior
o )

c. amé%ﬂwsﬁw T11. Tt Trom <19 Riw

d. &aﬁ'{ﬁﬁﬂsm 1V. FErrl et 5T e

Choose the Correct answer from the options
given below:™

T faw T i%tw ¥ 8 T BT T D@
(A) oI m c-IV, d-1I
(B) aIL b:lV, o1, d-
(C)  a-IIL bV, c-I, d-II
(D) alIL bl ¢V, d-1

~ (BE) Question not attempted / ST T

[PT.O.



54 - Malarial parasite enters the red blood cells and

55

effects the -

(A) Liver

(B) Small Intestine
(C) Stomach

(D) Brain

' (E) Question not attempted

HATT T IS, T Tehel BIITBIS H T B,

" Frtafaa & 9 feg o @t vl wrard ?

(A) =Fa

(C) o™
(D) e
(B) oria gs

Fill in the correct article/ determiner in the
sentences of List I, selecting from List II.

List I List IT
a. ‘Hariknew  man I a
who was killed yesterday.
b. SriLankais  island. 1II. the
¢. My mother teaches in II. the
college. .
d. Januaryis  first IV. an

month of the year.

- Choose the correct answer from the options

given below :
(A) a-IL b-1V, c-I, d-1II
(B) a-I, b-11, ¢-1V, d-III

(C)  al, b-1, c-1, d-IV -

D) a-1V, b-I1, ¢-11, d-T -
(E) Question not attempted

e 44JRAC-1 I
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57

58

“Kandora” ornament is worn on

(A) Head (B) Neck

(C) Foot (D) Waist

(E)  Question not attempted

“OhST TSN WY 9T S # |
A ®)

©) W (D) w1

(E)  sraftd we B

1.14 is what percentage of 3.8?
1.14, 3.8 &7 e ufqera & 2

(A) 25% B) 30%
(C) 40% (D) 20%

(E)  Question not attempted / ar=a He=

Now-a-days, e-book readers are very popular
as they are convenient, light and comfortable
for the eyes. Particular ink used for them is :-

(A) Magneticink (B) OR ink

(C) MICR ink (D) e-ink -

(E) Question not attempted

T 3% ST T8 Ui ¥ i & wah
STTE, TWh! ST aiiaEl % o giyersren €1 o
ST 1 S S 5 (S) B Wy

(A) g =

(B) AR @&

©) qq.ané@r.aﬂ'{.. e
(D) %

(E) - orgaide 97

[ PT.O.
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> 44JRAC-1]

- in MS-Word?

‘Choose the most appropriate answer from the -

b, x* =81 1L

What are the advantages of mailmerge feature

1. It saves lot of time and effort.

2. Itis used for designing document.

3. It can maintain the details of all recipients..
4. It makes the documents more attractive.

options given below: :

(A) 1 only (B) 2and 3 only
(C) land3only (D) 1and4only
(E) Question not attempted :
Ty, 98 § Hewst (foea) e & w an ¥ 7
1. 369 9gd § G99 SR WATY & §9d B &
2. O Y@ B YL@ S F YT e ¥ |

3. Ts gt yraeRd el & faeT v@ e ¥

4. TE YOG I ST ATH 3Tepyeh ST T
e few g foeedl # ¥ 9 SugH faeed @1
T B v
(A) Faa 1

(C) waw 133
(E) argana ued
Match List I with List II:

T 1 ofre g 1 o1 e i
ListI/gd I List I /g 1T

1 3x
a. (;) =0.008 ‘I. x;3

(B) e 2 8f 3
(D) wew 14

c. 2¥1=-9256 . x=1

d. x1/4:—j-—/2— V. x=9
, x
Choose the correct answer from the options
given below:
e g g freedt # & W8 IR @6 gET B
(A) a-lL b-1V, c-L, d-II
(B) a-IIl, b-L, c-1I, d-IV
(C) a-L, b-1II, c-1V, d-1I
(D) a-III, b-1, c-1V, d-II
(E) Question not attempted / ST T

61

62

Choose the correct sequence of steps in carbon
cycle from the statements given below starting
from its gaseous source.

Organic carbon in plants
Inorganic carbon in soil
CO, in atmosphere
Organic carbon in animals

R

Bacterial decomposition of organic
: matter v

A U 7T B BT BT Tk b TaH H TEHH Y
ARy B, fres st wie 6 2

1. el o S e

2. TEIH TG B

3.  agavsa ¥ CO,

4. ugeR ¥ S e

5. g gt @ strareett & foees

Choose the correct sequence from the options
given below:

I o 1o Ryeeat § T 9 9 @1 T BN

Ay 1,3,4,5,2 (B) 3,4, 1,5?2
(C) 3,1,4,52 (D) 3,.4,1,2,5
(E) Question not attempted / STANT U9

Which attack blocks a legitimate user from
using computer?

(A) Phishing

(B) Spamming

(C) Virus

(D) DOS (Denial of Service)

(E) Question not attempted

I T 37 ThET T SRR % HFIET T
&Y a1 & 7

(A) Tefam

(B) @&

(C) =™ .

(D) <o ww (e @i i)

(B) ogana ued

[PT.O.



63  Who developed C language?

64

©

- (©

(A) Dennis Ritchie

(B) Guido Van Rossum

(D) Von Neu%ann ‘

(E) Questlon not attempted

A

(B)

(D)
®) srgef ne

The dimensioiié of length and breadth of a
room, when increased by 3 meters are in the
ratio of 5:3 and when decreased by 2 meters
2:1. The length of the room

are in the ratio-

‘ 'm meters Wlll,be -

o T @ o, e ot ded, v
3 thex o g e T e i e B o

5: 3W%Hmmﬁztﬁaaﬁr$¢rarﬁwm§ma ,

2: lém%lmﬁ%w@tﬁaﬁaﬁﬁl
(A) 20
By 22

© 12
(D) 24

" (E) Question not attempted / STIARE 997

¥ 44JRAC-1]
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65  Match List I with List IT:

List I (Name of
the process)

List II (Steps
involved)
I.  Formation of

a. Nitrogen ﬁxatrév
ammonia from
amino acids
b. Ammoniﬁcatimj%z II. Conversion of
ammonia into
nitrites and
then nitrates
III. Conversion of
free nitrogen of

atmosphere to

compounds of

nitrogen
d. Nitrification ..  IV. Conversion of
s nitrates to free
nitrogen
Tt [ % 91y q\iﬁ 1§ “Em ﬁwm Eliee
@I (Fn w am) - g I (e 1e)
a WEESE UL o ond
b. emMGr I T E s
o oA N e d
EIRCRED
c. PrmgdmT ML e o
SIS T TR
| Y e Y el
d. e IV, e @ gw
AEZre ¥ aferd

Choose the correci;answer from the options
given below: ;

e e T ferepeay fl‘ % TR T T B
(A) a-IL b-1V, c~1 d-1I
(B) a-IIL, b-I, c-H; d-IV
(C) a-IIl, b-I, c-IV, d-II

(D) a-L b-IIL, IV, d-TI

(E) Question not attempted / ST 9s7
[ PT.O.
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67

‘options:

Which of the following statement about
“Presidential Rule” in Rajasthan is/are
correct?
1. First President Rule 13-03-1967 to
25-04-1967
2. Second-President Rule 20-08-1977 to
- 21-05-1977
3. Third President Rule 17-02-1980 to
05-06-1980
4.  Fourth President Rule 15-12-1992 to
03-10-1993
Choose the correct answer from the given

(A) Only 1 (B) 1and 3 only

(C) 2only (D) 2 and 3 only

(E) Question not attempted

A fGw 7T BE G HAT TORYE § qeguler

ge % R am yE?

1. e wsguly o 13-03-1967 &
25-04-1967 T

2. gE asgafd e 20-08-1977 @
21-05-1977 @

3. <rEq Tsgafy emEs 17-02-1980 &
05-06-1980 @&

4, <y Tegufy e 15-12-1992 9

103-10-1993 @@

faw T frepedt & @ wé TR giw

(A) FeEw 1 (B) e 133

(C) Haw 2 (D) g 2 &K 3

(E) orgaRa 9ed

Which of the following is the most reliable
protocol?

(A) FTP (B) UDP

(C) POP (D) TCpP

(E) Question not attempted

frafafea & @ &9 @1 Weta ge9 sfus
fasaem & 7
(A) wHadq
(C) dremdr

(E) orgafa ued

B g @
D) Hdd

- 44JRAC-1] , | 15
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69

70

71

The vaccines prepared through recombinant
DNA Technology are -

(A) Third generation vaccine

(B) First generation vaccine

(C) Second generation vaccine

(D) Fourth generation vaccine

(E) Question not attempted

I Tt S gAarTet DNA (Fiee) drenfire gra
TATAT AT &, FIT HEAT & 7

(A) <l it an St

(B) et el @1 et

(C) gud Wt o1 Srept

(D) el 9t a1 Srepr

(E) orafa usA
Sl ST S &Y % g we et ¥
(A) s - (B) o
(C) =@« (D) ?’W‘ﬁ
(E) orafa uss

“Geedar Dance” is performed in which region
of Rajasthan? :
(A) Bagad (B) Hadoti

(C) Shekhawati (D) Mewar

(E) Question not attempted

“ifieg T ToRA™ & BiF 9 &3 & R smar & ?

(A) srE (B) ®ERT
(C©) dmmEE . (D) wEE
(B) oTgaid uss

Change the given sentence of Indirect speech
to Direct form by selecting the appropriate
option.

Sudha informed me that she would go to

- meet her mother next week.

(A) Sudha said to me, “I would go to meet
my mother next week”.

(B) Sudha said, “I must go to meet my
mother next week with you”.

(C) Sudha said to me, “I may go to meet
your mother next week”. '

(D) Sudha said to me, “I shall go to meet
my mother next week”.

(E) Question not attempted

[PT.O.



72 agmﬁraﬁwmqaaéméwwm%?

73

(E) Queﬁtlon not attempted
o

Py PN

=~ 44JRAC-1]
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74

Match List I with List II:
‘List I (Event) ' iff?List IT (Phenomenon

f Light)

a. The reddening o Dlspersmn of

the sun at sunrise hght

and sunset 0
b. Twinkling of stars 1I. Scattenng of hght
c. Formation of . Total Internal
rainbow in the sky ©.* reflection

d. Mirage formation - V Atmospheric

in deserts : refraction of light
e 13 e e 11 a1 R e
T 1 (we) AR T (sewnsn Sy wferen)
% wg g &1 A |
e feger
b. X @ fenfemee L wewtsT T webIOi
c. Rl H FRegW I qui eriafie
a1 frfor T
d. P # glfae . ST
a1 ffor " grgHSAE STveR

Choose the correct answer from the optlons
given below: B

‘ﬁﬁﬁqwﬁmﬁrﬁéwﬁwmwaﬂm
(A) a1V, b-II, c-1, d—III

(B) a-IL, b-IV, c-1, déﬁ

(C) @I, b-IV, ¢-1II, d-I

(D) &L, bl c-IV, &1

(E) Question not attempfed / STANT UeT

[PT.O.
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77

A woman due to her old age cannot read
newspaper clearly. She is suffering from

A) Myopia‘ (B) Presbyopia

(C) Hypermetropia (D) Astigmatism

(E) Question rmt attempted ‘
’%n' T TR T @Y T

ere which contains 90%

(B) Stratosphere
(D) Thermosphere

A) Tropospheféf
(C) Mesosphere
(E) Question ndt attempted

S IR Lk B R ]
(B) g HamHEA
(D) wmEEgHsA

Given below are sentences that may be
correct/incorrect in the use of tense. Select
the correct ones.
1. Iwas havmg shower when the phone
was rlnglng:f;
2. He said that honesty is the best pohcy
3. Rama prormsed that she will do her
homework:
4. Gopal fell asleep Whlle he was readlng
a book.

5. We arrived-at the airport at 6 pm but
the checkirtcounter was already closed.

Choose the corréct answer from the options
given below :

(A) land2only (B) 1,3and4only
(C) 2and4only (D) 3and5only
(E) " Question not attempted

) 44JRAC-1]
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79

80

An element X is soft and can be cut with a
knife. It can not be kept open in air and it
reacts vigorously with water. Identify X.

(A) Magnesium = (B) Sodium

(C) Phosphorous’ (D) Calcium

X Ueh FH aed & ST T & BT A 6T 81
Y T ¥ gen T Tl o g o g€ I b
|1y ga ao & rfean etar ¥ X @1 vt

(A) FHfrm (B) wfe
(C) wre® (D) Wiemw
(B) omgaf@we

Arrange the given ‘metals in order of their

decreasing reactivi

1. Zinc 2. Calcium
3.  Copper _.4.  Potassium
5. Lead N
e & T argell B g srfHiear % STHR X
arerré e ¥ e B
1. e (Be) Fleeram
3, @M wefmw
5. 4 (de) - '
Choose the correct. jswer from the options
given below:

W fw mu foeey o @( B@f T B TGT DI
(A) 4,1,2,3,5 .. (B) 4,2,1,3,5
©) 2,4,1,5,3 -~ (D) 4,2,1,5,3
(E) Question notattempted / srafa 9§

Which of the follof ng is the longest canal
of India?
(A) Ganga Canal
(B) Anoopgarh Canal

(C) Ummed Sagar Canal
(D) Indira Gandhi Canal
(E) Question nofj;g;ftempted

| PR & Q B € e T ) e e

¥?
(A) 7 AET “(B) OIS TEX
(C) wEEErR e (D) shaxt el o3
(E) orafa us

" [PT.O.
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(E)
=~ 44JRAC-1]

What is the sequence of the following
memories according to Access speed (from
fast to slow)? :

1. RAM

2. HDD %
3.  Cache

4. - Register

5. SSD

Choose the correct answer from the options
given below:

(A) Register > Cache > RAM > SSD >
HDD

Cache > Register > RAM > SSD >
HDD

Register > Cache > RAM > HDD >
SSD

Cache > Register > RAM > SSD >
HDD

(B)
©
D)

Question not attempted

(E)
ﬁwﬁr&aaﬁrhﬂaﬁrmnﬁf%m(ﬁ%
€) 9 H T

1. =
2. wEH
3. B9

4. X
5. wETES

i R T et § @ W o w1 e A
W >HFA>Wo>wmw@ S >wgS sy

(A)
(B)
©
D)

FA> A>T >W@A>T@H D
WX > BA> W > @A >T@ U &
FA> WS> F>w@@A>wWH
ST usT

18

82

83

What is the width of ‘Rajasthan’ from East to
West?

(A) 869 km
(B) 839 km
(C) 896 km
(D) 890 km
E)
TSI @ qd & v e @) dierE ¥ -
(A) 869 Reelt

(B) 839 fmh

(C) 896 5y

(D) 890 fpey

(B) organa usd

Question not attempted

Match the phrases of List I with the
corresponding words of List II :

List I List IT

a. Severe shortage I.  Emeritus
of food

b. A retired person II. Hydrophobia
retaining honorary
title

c. Fear of water II. Famine

d. Abnormal fear of IV. Claustrophobia

confined place

Choose the correct answer from the options
given below:

(A) a-L, b-Il, c-III, d-IV
(B) a-IIL b-I, c-IL, d-TV
(©) all, b—I'II,Vc-IV, d-1
D) a1V, b-1, c-I1, d-III
(E) - Question not attempted

[ PT.O.
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86

Rl o

Air gets polluted due to various reasons.
Identify which are NOT the direct causes of
air pollution.
. Dust storms

Smoke from VOECanoes

Domestic sewage

Agncultural waste

Burning of WOQd and coal
Choose the most approprlate answer from the

(A) 2,3and 4 QB) 1,2 and 4

(C) 3and4 (D) 3,4and5

(E) Question not attempted

T % BT & gf A ¥ 15 ¥ B &

- options given below: .

T Y AT TEET BT BT T E ?
1. g@ 9l o

2. Wﬁg@@fﬁmmgan
3. W@ EesE

4. Ppiyoulee

> 44JRAC-1]

(A 2,384 (B) 1,284
(C) 334 (D) 3,445

(B) orgaia uss

P & § B 1 U N BT ST A 5 P
A) w= (B) &=

€) " (D) &HH

() omgar@asT
%rammﬁﬁua‘amma sr@mé%% T T
Lo Rgem

2. @TEEE

3. sl wEE

4.  orem W@ gHE
%mwwﬁ%ﬁmwwaﬁ%&q
(A) e 1 U;E‘(B) herel 2

(C) e« 3 (D) a4

(B) orgaia ued
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89

90

A boy goes to school from his house at a speed
of 8 km/h and come's%ack from school to his
house at a speed 0 £12 km/h. What is his
average speed?
(A) 10.6 km/h (B) 10km/h

(C) 9.6km/h (D) 11 km/h

(E) Question not attempted

T T B Y e § Top /e, Y T @ S ¥
&R =T e | X L;%ﬁ’r/’er P T G ST
¥ | T W ofred S AT e ‘

(A) 10.6 fpALME. (B) 10 %5.1?(./&
(C)- 9.6fpA A (D) 11 ReAL/E.
(E) orgara usT
‘Who was the first pe 'son to receive Padma
Vibhushan Award from Rajasthan?
(A) Naresh Chandra
(B) Mohan Sinha’Mehta
(C) Ghanshyam D’ﬁs Birla
(D) Usha Sharma’ -
(E) Question not attempted
TR ¥ UG »;;jarcné (qTEHI) T ATl
TR S A A7
(A TwEE
(B) dre = ﬂ%‘m
©
D)
E)

The literacy pe'rcé&tage among males in
Rajasthan as per Census 2011 is
2011 & FEIUFET % SFET, Wﬁﬁgﬁq‘raﬁ

weRar Wi 8
(A 75.7% L (B) 792%
(C) 72.9% (D) 78.9%

(E) Question not ;xttempted / ST 994

The median of the gfven data9,7,6,7,8,2,
10,6,4,12,3is- .
9767821064123&@@6&%

FME?

(A) 6 ®) 2
<o 7 D) 8
(E) Question not attempted / TFaRA T8

[PT.O.
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(D)

Which was the first bank established in India?
(A) The Bank of Hindustan

(B) The Bank of Calcutta

(C) Awadh Commercial Bank

(D) The Emperial Bank of India

(E) Question not attempted
gy s e s S PR AT ?
(A) ¥ offw Rgam

(B) e 311 Herehal

(C) oray wEfdad ¥5

(D) zwiifeas S offe shear

(E) orand 9ed |

Which of the following is used to check
synonyms in MS-Word?

(A)
B)
©
D)
(E) Question not attempted

T g9 ¥ g Tl #l Wi B & [y
e o Qo e e ST g P

(A)  @w AfsT

(B) oI ¥

(C) =iz 5% (Fam Af)

CIRIRG]

ST 99

Spell checking
Auto check
What if

Thesaurus

E)

Forer & & T A1 o8 < ST & & IR ?
A) P+ =T

(B) ufd + 39 + BN = TgI&AR

(C) 99+ 31+ TN = FHE™R

(D) &if + o + A = TR

(B) erafea usd

) 44JRAC1]
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94

95

96

e 1% 9 et 11 o1 Rrer ST -
I I |
a. @l &l ar I wga afvew el
b. TEI-9F BT I g < sl
c. ST AN M1 & e
d. 8w 9T IV. =TT 8T

T faw 1o Rrepedt ® € € I BT 9IT BT
(A) a-l, b-I1, c-IV, d-11I

(B) a-L b-l, ¢c-IV, d-TIT

(C) a-II, b-1V, ¢-I, d-1IT .

(D) a-l, b-II, ¢-1V, d-1I

(BE) orara ues

Which services are used to make website
available for 24x7 all over the world?

(A)
B)
©)
D)
(E) Question not attempted

JTEEE Bl T I (24x7)msaa€ﬁ%5ﬁrrq
fagayt & o € and yaeT A g S 7

(A) Ffsrewmew  (B) dsafEw

© wAAT (D) R

(B) orafa 9ed

Video conferencing
Web hosting
HTTP

Tele commuting

Which of the following does not give instant
messaging?

(A)
B)
©

Google Hangout

Yahoo Méssenger

Facebook Messenger

(D) Google Chrome

(E) Question not attempted

Prerferiarer & & S € g rdror @ gl e ¥ 7

(A) TEERTES  (B) IE FESK
(C) wugH i (D) T HH
- (E) orgara ued
[PT.O.

97

98

99

(D)

)

Danger signals are red in colour because -
(A) Red light is scattered least by fog or
smoke. :

B)

Red light is scattered maximum by fog
or smoke. :

Red light is refracted maximum by fog
or smoke.

©

Red light is reflected maximum by fog
or smoke.

(E) Question not attempted

GAY % Hohd @A T % B & Fiih —

(A) T T, gamgq@w@rmua%ﬂﬂ
T B

AT Web1ST, G a1 g¢ & T arirep webror
g §1

AT BT, gamgqéwﬁaq%maﬁﬂ
BT

AT TBTLT, gamgq@rw@rmﬁmwméﬁ
HRIES

SR T

©
(D)
(E)

Given below are the sentences in which
degrees of adjectives have been used. Select
the correct sentences.

1.- He is the strongest man.

2. No other musician was better than him.
3. The crocodile is the largest of all reptiles.
4. This place is near to my home.

Choose the correct answer from the options
given below :

(A) 1,2and3 (B) 2and3
(C) 2and4 (D) 3and 4
(E) Question not attempted

‘g AepT T HIS AT & 7 e & i oy fhan
%7

(A) wwH® fman
(C) vromdes fomam

(E) organa 9ea

(B) 1w fman
(D) gdeieres foman

) 44JRAC-1]

100 g are &l =97 S |

101

102

- (C) 2and 4 only

T I ST R
LERISIE TN

g 37|

TE IR AT TS T
SN U9

Ratio of the number of girls and boys in a
class is 24:16. What is the percentage of girls
in the class?

Tt eT o Wsfemdl o @l ol ge | 24:16
ma@m%lmwﬁwﬁﬁaﬁﬁruﬁfmmw
El

(A) 60
(C) 56

A)
(B)
©
D)
(E)

(B) 66
(D) 40

(E)  Question not attempted / SR U9

Identify the correct statements.

I.  Ifanarticle of T 200 is sold at a loss of

© 0 25%. Its S.P. will be ¥ 250.

2.  IfC.P.=%56.25 and Gain = 20%, then
S.P.=%67.50.

3. If CP is 96% of the S.P., then Profit
(gain) is 4%.
100

100 +Gain%

Choose the most appropriate answer from the

options given below:

(A) 1,3and2only (B) 3,2and4only

(D) 1and4only

(E) Question not attempted

T BT B TEAE BT

L. 200 97l T oy bl 25% &I 0T /o |
fowpar 7w T 250 =

4. CP.= x S.P.

2. uRrwmu e =3 56.25 el ey =20% ¥,

al fpa g = T 67.50 8l
3. Ui %y e, a1 96% B @ @

4% g |

100

R S T = R
= ¥ § mew sfug ot @ g iR
(A) ®aw 1,382 (B) Haw 3,284
(C) Fawm2eikd (D) Feaw 14
(E) orgaRa uss '

[PT.O.



103 Which Web page is dlsplayed differently for

104

Gy

(B

-~

different users?
Static

(B) Home
©
D)

Dynamic
Currenf 7
Question notw%itempted

BT |1 A AT ST TEANT B Tt B AT SreT
EREAC R G RA %‘? J
(A =fw =
®) @ |
(C) s (i)
D) a‘f%:rﬁ e
(B) egai@usT ..

Arrange the following Chief Ministers of

Rajasthan in chr ongloglcal order:
1. Bhairon Smgh Shekhawat
2 Vasundhara R&Je

3. Jai Narayan Vyas

4.  Haridev J osh;ﬁg

5 Heera Lal Shaitri

1. 9fE Qremad

2. "ggaTw
4. eREmsih
5. Eroem e

Choose the correct.answer from the options

~ given below: st

R forg T freedt & ¥ wE T @ g %rﬁﬂq
(A) 3,542, 1
B) 53,4,1,2

(C) 3,4,51,2 -+

(D) 5,4,3,1,2 7 ,
(E)  Question not attempted / SIafa wes

) 44JRAC-1]
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105 Given below

106

Change it to assertive form, choosing the best
option. 43

What a dellclmw flavour these mangoes .

have ! £

1. These mangoéﬁ have a delicious flavour.

2. These delicidts mangoes have a good
flavour. -

3. The good flavdur is of these mangoes only.

4. The mangoesire delicious.
Choose the corréet answer from the options

given below : :
(A) land4only (B) 2only
(C) 1only (D) 3only

(E)  Question not attempted

' Match List I W1th Llst II
List I (Speed in_ List IT (Speed in
Km/h) m/sec.)
a. 6 km/h I 8.5 m/sec.
b. 20 km/h - II. —;.— m/sec.
c. 30.6km/h . L 20m/sec.
d. 72 km/h Iv. %9- m/sec.
T (felysd & i) qsh i (rh/% % i)
a. 6 feE. 8.5MWA. .
b. 20fedd. ¢ L % LURH
c. 30.6fhE. L 204,
W 50
d. 72 . V. 5 /A,

=3

%mmmﬁ%wwwwaﬁm

given below:

a-1II, b-1V, e, d-I1
a-IV, b-11, o1, d-IIT
a-Il, b-1V, ¢-11I1, d-I
a-1I, b-1, ¢-1V, d-1I1
Question not attempted / Tgafa 95

(A)
(B)
©
(D)
(E)

[ PT.O.

exclamatory sentence.

107

108

©

Evaluate : 1198 x 1198

T B : 1198 x 1198

(A) 1435204 = (B) 1435224
1430204 . (D) 1432204

(E) Question not aftempted / STTaRE 9

Which of the following statements are True

regarding G20 Summit?

1. - First G20 Summit was held in USA in
2008.

2. The Headquarters of G20 is at
Los Angeles, USA.

3. First ever Virtual Summit of G20 was
held at London in 2020.

4, Theme of India G20 was One Earth,
One Family, One Future.

5. G20, 2024 will be held at Brazil.

‘Chose the correct answer from the optlons

given below:

(A) 1,3and5 B) 2,3and5

(C) 1,2and5 (D) 1,4and5

(E) Question not attempted

Frefafag et & 9, S 20 vy oo & fag

T HITHA AL ?

1. quﬂZOﬁmwﬁmqwqﬁzoos
H ga|

2. SN 20 1 gEaEd @ USad, .09, ¥ ¥
2020 ¥ 7 20 fyra® gee B et o
GESE ]

4. TCa F S 20 T B 60T oY — T ),
T U@, % A |

5. <20, 2024 o RTER e s &

%fé’qvqﬁmﬁ%aé’rwmamaﬁﬁrq

(A) 1,385  (B) 2,38R5

© 1,285 (D) 1,485

(B) omara v

= 44JRAC-1]
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111

109 Given below is a sentence in English.

Translate it in Hindi and choose the correct
option.

Hard work is the key to success.

1. 3 ¥8a & awaar & $ei o

2. @O ufea & e B A ¥

3. ®ied HW ¥ & aehwar U eri |

4. G BT TEE BT B HIAT T

Choose the correct answer from the options
given below :

(A) land4 B) 4
(C) land2 ‘ D) 3
(E) Question not attempted

__is called the City of Pearls.

(A) Hyderabad (B) . Ahmedabad
(C) Mysore (D) Chennai
(E)  Question not attempted

! Il T 18T & B |
(A) TeusE (B) omEvHaETE
©) &g D) ¥
(B) oraid usd

T 1 % @ g 1 a1 frems g
Q}ﬁ I @ 11
. uresel s ared INERCERE L]
T
b. =T 7 weT B
8L W
Cc. I8 3R 8% B
& weT
d. s ¥? V. dgw A
e T U Ryepedt & 9 W& IR BT TG BN
(A) a1, bl -1V, d-TII
(B) a-II, b-1, c-1V, d-111
(C) a-L, b-II, c-III, d-IV
(D) a-IIL b-11, ¢V, d-1

(E) orgai@usT

. %@ g

HI. vssaraes ae

[PT.O.



112 Which tag is used for bullet list in html?

(A) <UL> (B) <DD>
(C) <OL> .. (D) <UD
(E) Question netattempted
o & e 3 o o o e e
FAE? ,
A) <que <<
(C) <aitge> < >
(E) orgafa v
113 Match List I with
ListT List II
a. Browser ‘<button>
b. . Store the website
element on server
c. Multimedia HI. Software use to
Access website
d. Webhosting™ '~ IV. Combination of
' text, video and
; audio
g 1% arr gt 1ot et i
w1 I
a. WEET L <sze
b. wmATITA. Il §E 9T IsEEE B
SRR R &
c. Heel Wifea 1. JsQrgse o qge %
for e T
d. g EfeT IV. fafaq, gea o gaor
. el g
Choose the correct answer from the options
given below: i
W g g ﬁaﬁtﬁ% o FE I BT GG ﬁ%rq
(A)  a-IIL, b-I, IL, d-IV
(B) a-IV, b-II, ¢=HI, d-I
(C) a-L b-l, , d-11
(D) a-IV, b-1, c-1I, d-11I
(E) Question not attempted / STana us
=~ 4JRAC-1] 24

114 qﬁfi%maajﬁﬂmﬁﬁma?rm

116

115

| (A) FEa 3

2w

1

S20
3. uga%sﬂﬁ%maﬂm%l
4 R

@I AL 3 O

a Rg+w o L g
b wm+wf U @ ety
c. WH+hwH - L drdfa
d. #Y+emm@ [V, wopafy

< g g et 4t et e o : |
(A) a-L b-1L, eI 4TV
(B) &Il b-IL T, &IV
(© alll bL, &i d-1v
@) alV, b-mﬁﬁz d-I1 -
(B) aﬁﬁﬁau%%;%

%f?% _ :
What is/are the uses of “Macro feature” in
MS-Excel’?
It is used #0 send messages.

ey

It saves a'%est of tlme

)]

It demgn&%e work sheet.

It maintains the umforrmty of§
formattmg?:hanges in a sheet. ‘

o i
Choose the most appropriate answer from the
options given beiow '

(A) 3only B) 2only

(C) land4 oﬁ;@r (D) 2and4 only

(E) Questlon:ﬁbt attempted

.. TR U R a7
TE Ga9T WO % T v g ¥
T T Y o e

%@aﬁgiqﬁaﬁw%waﬁmﬁw
%mm%

e fag g %H@:@rwgaﬁwmam
HIfTT:

(B) Haw?2 |
(D) %aw2eit4

(C) w1 w4
(E) orgafa uew

[ PT.O.

~ given below :

117

= 44JRAC-1]

Fill in the appropriate prepositions in the
blanks of List I from List IL.

ListI List IT
a. He is blind one eye. I. into
b. The boy fell g"%}ns bike. I of -
c. Rohitisfond " children. INL in

d. The lion Jumpedﬁ“% the well. IV. off

Choose the correct

A
B)
©)
)
B

Match List T with Llsﬂf JI

ListI (Metal / Llsggl (Property)
Non-Metal) wf

a. Mercury L

a-L, b-TI, ¢-TIL,.d
a-111, b-IV, c-I%gl—I
a-1I, b-IV, c-1, d-III
a-1l, b-111, c-I, d-IV
Question not aﬁggmpted

ardest natural
“Isubstance and is a
#ion-metal
A non-metal which
o is good conductor of
electmcrcy
lustrous non-metal

b. lodine 11

¢. Diamond I,

d. Graphite IV.%%The only metal which
syl liquid at room
ﬂﬁ;iemperature

ngﬁ I % Ty e 1 e Sif:

T (ag/eeng)  gErH (@)

a. U L weraw Wik ard
3, T U ®

b. SMAEH I Qo rerTg =it fereger a1
Lo ams ¥

c. ¥R I ewmm%

T o 7 B
Choose the correct @Eswer from the optlons
given below:
A fag g Ryevedl § ¥ TR ST @1 TG HIRTT:
(A) a-TV, b-l, c-II-d-II
(B) a-IV, b-IIL c-L
(C) a-ll, b-IV, c-
@®) a-IV, b-IIL, c-IL
(E) Ques’aon not @ﬁ;empted / al'jﬁﬁa LR
i

118

119

25

"(A) Reduces cost:

What are the advantages of IDE (Integrated
Development Env1ronment)‘7

(B) Savestime
(C) Auto correct sgurce code
(D) Easy to develop

(E) Question not aftempted

Wééfﬁ Ef@ﬁgéﬂﬁﬁﬁ?wﬁﬁ-’vz % @9 T

Wm%’rﬁrﬁ%
TH @ g9d
'Wmm% '
AN e

Choose the statements which are not correct
in the context of Raja: sthan.

1.  Area of Rajasthan is 10.4% of India’s

total area.

2. Literacy pef@entage of people of
- Rajasthan is 52.12%.

3.  There are 928 females for every 1000

(A)
(B)
©
D)
(E)

ajputana.

swer from the optlons
given below:
(A) 1,2and4only (B) 1and4only
(C©) 2,3andS5only (D) 2and4only
(E) Question not attempted
e R T e A |
ey ¥ wel T §:
1. ST bl

10.4% %1

2. TISTRUE W) R 52. 12%%: ,
3. o ¥ ui %OOWﬁgamﬁ 928

Hiead ¥
4. TR BEE 8K Trri%'m ORI & IRE
e B
5. %ﬁermﬁmﬁmwmm
ol




120

Match List I with List II:

ListI List IT

a. ‘Dronacharya’ Qf L. Limba Ram
iRajasthan

b. gWaterm‘%tnf of II. Karan Singh
Rajasthan ’ | |

c. ‘Arjun’ of III. Gokulbhai
‘Rajasthan Daulatram Bhaﬁ

d. ‘Gandhi’ of IV. Rajendra Singh

Rajasthan ,
- gd 1% wr g2 1 o e st |
T I | T 11
a. TRy &1 domart L femr o
b. o™ @ aeEs I wRiE
c. TS B et L g
A Wg
d. roReT @ T IV. ﬂﬁa'fh%

) 44JRAC-1]

Choose the correct answer from the oi)tions

given below: .

%mmﬁﬁﬁﬁéﬁsﬁ?mrwm:
(A) a-1, b-IV, c-III, d-IT |
B)
©
D)
(E)

a-II, b-1V, c-I, d-1II
a-II, b-1V, c-II1, d-1
a-IIL, b-1, c-1V, d-1I

Question not attempted / ST w9

26

121 The difference between the compound interest |

122

123

and simple interest on a sum of ¥ 10,000 for
2 years was < 400. The rate of interest p.a. is-

10,000 =t Tfdr wx 2 = & forg wshghs s

mewwimo%xmﬁrﬁ‘

(wierad &) erar &ty ?
(A 15% B) 10%
©) 20% (D) 40%

(E) Question not attempted / TaRa Is7

Choose the option where the prefix has been
used correctly in the words given below :

1. Initial

2.  Innumerable
3. Irritate

4, Unless

5. Irreparable

Choose the most approprlate answer fromthe

options given below :

(A) 2and5only (B) 1,2and5 only
(C) 2Zand3only (D) 3,4and5only
(E) Question not attempted

The common factor of (434l + 4141) and
(4343 + 4143) will be :

(43 + 4141‘) e (3% +41°) i

UFES T B ?
(A) 3

(B) (4343+4143)

() (4341 +4141)

(D) 84

(E)  Question not attempted / SR Y97
[ PT.O.

124 T 1% gre e 1 &1 R i
a1 R II
a. oI +39 1L =emEty
b. i + T
c. F+aw
d. T+ gar
W faw o faemey o %BEPIWEFTW%Q
(A) a-l, b-1V, c- F d 11
(B) a-l, b-IL, c-IV, @«IH
- (©) a-Il, b, c-1V, d-III
(D) &L bV, ¢l &I
E) orefaue <
125 Match the given Wt;;‘ds of List I with their
corresponding words-in List II.
List I o ListII
a. Director | . ofsm
b. Accountant 3 II. &
c. Insubordination . st
d. Resources IV. S@mr
Choose the correct' zfnswer from the options
given below :
(A)  a-L, bII, c-Illzd-IV
B) eIl bIIL -1V, d-1
©)
D)
(E) Ques‘uon not:. aﬁempted
126 ‘s %%rqv@ra%reﬁ L
A) g & A
B) E® T mamzﬁsl
(©) ST
D) HEEEE R
() ogaia ae -
) 44JRAC-1]
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128

Other than camel, which of the following
is considered as the “State Animal” of
Rajasthan?

(A) . Chinkara
(B)
©
D)
(E)

Fe & arfaie, ﬁmﬁ@fﬁmqgﬁw%
mqg”maﬁ%mw%?

(A) Fiwra

B) @
©) wmh
D)
(E)

Fox

Black Buck -

Python

Question not attempted

@lg‘"ili § gs’:r/‘;-} ;

Which State F mamze Commission is presently
working in Rajasthan?

(A) Sixth -
(B) Fifth
©
(D)
(E)
TS ST & ﬁw T o A e
HEE?

(A)
B)
©
®)
(E)

Seventh
Fourth

Questlon nof:r attempted

[ PT.O.



129 Match List I with List II :
List I List 1
a. Analdg signal 1.  Amplify the weak
V , ' signal and resend
b. Repeater 1. Connect Multiple
Devices
IL

¢. Digital signal Continuous signal

d. HUB IV. Discontinuous signal

gl [ % wrer e 1 o1 B i

& 1 oAl

a. MEUHAT L HEER Hendl @ qaHT
| 50 T A B

b. YEERE 1. < EA SUHTN B
(fde) Sirga 21

c. aqaﬁ'ﬁrﬁaﬁ 1. gaa dewd

d. T@g« IV. Freaq Hed

Choose the correct answer from the optmns
given below:

%mmﬁw@ﬁéaﬁwwwaﬁﬁq

(A) a-IV, b-1, c-111, d-II
(B) a-IV, b-II, ¢-IIL, d-I
(C) a-I, b-1, c-11, d-IV
(D) a-II, b-I, eIV, d-I
Question not attempted / SFFANT 997

(E)

130 Which city of Rajasthan is known as the
“Venice of the East™? ,

(A) Udaipur (B) Mount Abu

(C) Jaipur (D)
(E) Question not attempted
Trawmasa%ﬁ% TR Bl “uﬁwéﬁﬂ HET ST
E

(A) wTEgR

(€) v

(B) orgaia g

) 44JRAC-1]

Bikaner

(B) &z o
(D) dER

28

131 g [ % @y g 1 &1 e sl

TN I @H

a. gL A
b. & II EEE]
c. 9 HI g

d. arfafr JaT -
%mwﬁmﬁéﬂﬁwmwaﬁm

(A)  a-L b-IL, -1V, d-III
(B)  a-IL b-, c-IV, d-IIT
(C) a-L, b-IIl, c-IV, d-II
(D) a-IL, b-L, c-III, d-IV

(B) orara wed

Q. No. 132-136 : Read the following Passage and
answer the questions that follow :

Bhutan is a mesmerising mix of lofty

mountains and deep valleys on the southeast slope
of the Himalayas. Towering peaks reach as high as
24,000 feet (7,315 metres).

Also referred to as the land of the thunder
dragon is a trekker’s paradise and an
environmentalist’s dream. With 72% of the country
under forest cover, Bhutan’s pristine ecology is
home to endemic and endangered flora and fauna.

This spiritual land is the last bastion of the
Vajrayana school of Mahayana Buddhism, which
provides the essence of the identity of the 7,50,000
Bhutanese. Bhutan is a unique blend of the old and
new. The country is slowly opening up to the modermn
world whilst maintaining a fine balance with its
ancient traditions.

Bhutan’s first national elections in March
2008 marked the country’s shift from an absolute
monarchy to a constitutional monarchy. In keeping
with its ethos, it was a peaceful transition.

The tourism industry in Bhutan is founded on
the principle of sustainability, meaning that tourism
must be environmentally and ecologically friendly,
as well as socially and culturally acceptable. The
number of visitors to Bhutan is regulated because
of the lack of infrastructure.

Bhutan’s Government recognises that tourism |

is an important means of achieving socio-economic
development, particularly for a developing country
like Bhutan. They also aim to help promote

understanding among the people and build closer-

ties of friendship, based on appreciation and respect
for different cultures and lifestyles.

132 When was the first election held in Bhutan?
(A) March2008 (B) March 2012
(C) March2023 (D) March 2018
(E) - Question not attempted

[ PT.O.

133 Match List I with List II :
List I (Words) List IT (Meaning)

a. Flora I.  Of great height
b. Lofty II. Culture
c. Monarchy III. Plant life

d. Fthos IV. Government of one ruler

Choose the correct answer from the options
given below :

(A) a-L, b-1I, c-1II, d-1V
"(B)  a-Il, b-IIL oL, d-IV

(C) a-II b-L, c-1V, d-II
(D) a-1V, b-1I1, c-1, d-1I
(E) Question not attempted

134 Select the best optlon as an answer to the
question given below :
Why are the number Qf tourists regulated in
Bhutan? ,
(A) Due to lack of infrastructure
(B) Due to danger for flora and fauna.
(C) Due to lofty mountains and deep valleys
(D) Due to forest area |
(E) Question not attempted

135 Complete the followmg sentence using the
best option :
Bhutan is a unique blend to old and new
as
(A) there are old and new people around.
(B) there is a fine balance between modern

world with ancient traditions.
(C) new visitors are coming more often
now. -

(D) there is socio-economic development.
(E) Question not attempted

) 44JRAC-1]
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136 Complete the given’ statement by choosing the

suitable option.

- The tourism industry in Bhutan is founded
on the principle of sustainability which
means : ’

(A)
(B)
©
D).
®

tourism has to be promoted.

tourism has to be restricted.

tourism has to be ecologically friendly.
tourism has to be based on religion.
Question not attempted

137 Which of the following is NOT an OOP

(Object Oriented Programming) principle?
(A) |
B)
©
D)
B
fret & ¥ ® @ siLel W, (sesiae sftdfes
Tt Rt 7@
(A)
(B)
©
D)
(E)

Data abstraction
Friend class
Encapsulation
Inheritance

Question not attempted

TSt T WIRIEsT
% T

T &
EHINER

ST 997

Which of the following blood group is
considered as universal recipient?

Prefeas % & B 1 T O G R 7
(A) A* (B) B* '

© o* (D) AB*

(E) Question not attempted / IR 797
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139

140

141

) 44JRAC-1]

A rational number between JE and ﬁ is:

V2 a7 % S @ ufcis g i

A) lf%ﬁ (B) 2.64998
(C) 2.432 (D) -‘Z-E—;..‘./j-

“‘”‘3

(E) Questlon ot attempted / ST U8

If 15 women or 30-.girls can stitch 270 suits in
18 days, then hoW“ many suits will 10 women
and 20 girls stitch in 18 days?

(A) 400 suits (B) 320 suits

(C) 300 suits (D) 360 suits

(E)  Question ;;@t attempted

afy 15 ofied ar 30 @sfpar 18 i & 270 g2
Reeret ¥, < 10 afRd ot 20 wefeat, 18 i &
fipa e faertr 2 <7

(A) 400%e (B) 320ge
(€) 3009z (D) 360¥
(B) omanay

o

Which tag is used to create a drop down menu
in website using html?

(A) <Input> | (B) <Select>

(C) <UL> D) <Menu>

(E) Question ; n@t attempted '

TE.E TH.GH. B W‘rfr w0 Jarge ¥ 31 oA
ﬁq(ﬁ%aﬁmaﬁ’q ) ST 2 TQ i a1 & S
frr ST ¥°7

) @

30

142

143

144

145

Which of the following diseases is prevented
by BCG vaccination?

(A) Cholera

B) Tuberculosm

(©) Typh01d

(D) Hepatitis: B

(E) Question not attempted

W@aﬁamma&ﬁmmew@r%

1% EIRT & WS ?
Exill
A&
Redersfea B
ST W

(A)
(B)
©
(D)
(E)

. (B) 3su@ sarn
(©) ww@am (D) o9 S

() st s

The unit digit iafthe product‘
TIxT72x 73 % L x x
gumqsa71x7zx73x ...... X o X
@ 4 . ® 3
© 6 oD 0
(B) Questioxiiﬁot attempted / SR et

......

......

The dlfference of squares of two consecutive
odd integers is always divisible by:

awaﬁwquﬁzﬁr%wﬁwwgﬁm
& ot Rrsmifirar €y &1

(A) 3 S ®) 6

© 5 D) 4

(E) Questioﬂ;;mt attempted / SN 997

[ PT.O.

146 Match List I with List IT:
List I (Disease)

a. Pellagra

b. Marasmus

List II (Deficiency)
I. Vitamin A
II. Vitamin B

c. Goitre II. Protein
d. Xerophthalmia IV. Iodine
et 1w gt 1 o1 e sifera:
@ I (@) = 1 (=)

a. Ueum I ffEA
b. FTEE II. fef=B
c. TR . 9™

d. sweaRmEr IV, mEEH

Choose the correct answer from the options |

given below:

I g Tw Ryepedt § ¥ e IO B TEA eﬁﬁw
a-I1, b-1, ¢-111, d-IV
a-I1, b-111, ¢-1, d-1IV
a-I1, b-111, c-IV, d-I
a<I11, b-1I, c-1V, d-1
Question not attempted / STRANRE ¥

(A)
(B)
©
@)
®)

Direction :

from 147 to 150.

Question No. 147 to 150

‘Marks obtained by five students M, N, P, Q
and R in English and Maths are shown in the given
bar graph. Read the graph and answer the questions

Frdsr :go . 147 @150 o

o i M, N, P, Q ot R &y st aire
e & STt i e R e 1 ey T ¥ 19

9% 3T 9gT 147 ¥ 150 o1 T

721 w
Ore——£ % %3
50l 222 a2 oz @2
S 0oF B= =
= 40 R e =
51 = B
£ =
STt 30 4 —
=3 —|
OE —
u & 20 - =
= 10 A =
0 - 25368 ke
M N P Q R

> 44JRAC-1]

Students (BT)

31

147

148

149

150

Which student has scored the highest average
marks in English and Maths?

B & ferenelt 3 RIS oft it A et ofvea

3fep yT fepw ?
A R (B) N
(C) P (D) M

(E) Question not attempted / ARG U

How many students have got more than 40
marks in Maths?

(A) One B) Two

(C) Four (D) Three

(E) Question not attempted

fepem faenfiiaf 5wty & 40 oft & o1 afe
Tt T ?

(A) T B)
(©) =X (D) &=
(BE) orara usd

For which student the ratio of the marks
obtained in Maths and English is the -
maximum? :

fepe feremedt o1 wiftrer ok ot & siehl &1 o[
geg e 7

A M B) R
€ N D Q
(E) Question not attempted / STANT U
Total marks obtained in English by all the
students is -
o Ryl @ ariet ¥ T e i ¥ —
(A) 190 (B) 195
(C) 200 (D) 205
(E) Question not attempted / TR UsT
[ PT.O.



